
���������		�
����


����������	�������

��������

��������� !"#$�%!#&
'()(*+,-./0

���

1&2����3&4����"
5-67(*+689,:;6*<6-6/



��������

���	" $�� %��"
��"!�� "	 $"�&!
��"	4��
 $"
��"�"
 �& !�	&�&�! &22	"��&�!�
�4! "	4�
����4���"2!��!"�����& "�&!��	� "�$4!&
�2
&�"�!�

�����"�	�� $�!"&�%$&
$
��"�"
 &!
�  	&�� "�"� &	"24 ��"��	�� &���� $"
��
2"��&
%��"���
 &�� � $�!"	"24"�"
 !
��" ��"!�����
2"���"�	""!���	""���
�!!�
&� "�%& $��
2"�	�&��&���

���"2�& 
$��#(8/��
����	" $	"" 4�"!��
���"2!
��� !� "#$!%&��"!�����
2"��
"��2��� &���'�&22"	�(�� �	&�)$���!����*

�+$&$,-.,%% � "#$!%&$/-011,%22�$ 
$/3$� 456�7%+$ 8"0,94�$ 2:36+;� 
�$0 !<0.&%$ 2'=	��#��	 ���> 	&#���*

�?%2.9&� "@$!%&AB+C?9!�94�$ 5
B09,7C%&$.9&�D94�$ �'�2�!"�E��"�����*F2���	��&� &��$���"�!��	""G
&"� 24&�
���
2"�! $��&���	""��
2"����" �
���	#H"2�
�2&I� &���

���		"� 24���� � �
��! 	�&� $"!"���"2!



�������������	
�����������
�
��������

���	"
&!&���"�!�	"�"� ��=�������!����
 &��
�� $"!�"
 � �	�"� 	�����"� ��
��	"�"�2
$�% $"! 	�
 �	"���
 &��! �	 
$���&��%& $
&�
	"�!&����
2"�	�&��&���
�)$"	� &����������������!��"� 	�����"� ��
� �&�"	"� ��2�"!����&!!"�!& &�" ��&�"	"� 
���"2!�
�F&�"! $"����	 ��& 4 �!"" $"
��"�"
 ��
��	� ���%$� $�!�""����"%�!��	���
2"��
�����!" ����"	! ��� $"��2&�& 4���"� "	��
�!��"� 	�� �	�" �
��$�&
"����	&��2"!������ $" 	��!�"	!"
���"� ���� $"!�"
 � �	�"� 	����� ���
 $"2&�$ 
��"���"� ���	�
 &���� $"
!�"
 � �	�"� 	��!��%$"	"

!�"
#$%&�$'



�������������	����
�


0.4

0.5

0.6

0.7

0.8

0.9

1

1.1

1 1.1 1.2 1.3 1.4 1.5
αs

F
2p

ef
f /F

2p

Q2 = 5 GeV2, x = 0.6

Fig.3

H�!$"��	3�!���	"!!&�����"2�H�  "���"!
�2&��
���"2�H� ���!$"����
2"�	�&��&�����"2



�������������	
��
��������������
������������
�����������
�
��
����������������
		���
��������������	�������	��������
�
��������
���
��
� 	���
�!�������������������	���"
��#��
������ �$����
�	
� �%��
		
����
�������
�������	���
�&
��
������
��
�����������������
���������
����������
������������
�������
	������
� �� %
�'���(�
�
��
 �����)�
��%���	���	��	����
��������*����
����
�
����
��	�����
���
+����
�
,%-.+�

���
�
,%/01�-���	��
���	���������������������
�����������



������������������
��"�!�	"���������	
�
���&�����
�
&� $"H
>	"�&��
��"	��	&�������!��
��!"�&��& "��	 $""2"
 	��

��!"�
���&�� &����2�%"�"	�4�"� 	���" "
 �	
��� $"F"��"� 	���" "
 �	��	 $"	"
�&2�"� 	���
�=�	�&�� $"	� &�����������
��

��������"���
��&�&�"!�� �"� 	���" "
 &��"G
&"�
4�

2"x 3"

CH scint.

3" PMT

threshold 50 keVee

N−detector

σp/p = p/100

100 msr, p > 0.25 GeV/c

time, ns
0 100

J

T neutron − 10 and 1 MeV

D(e,e’n )Xs

He(e,e’n )X
3

s

He(e,e’n )X4
s

H(e,e’n   )Xns

35
cm  /s

−2
Luminosity 5 10x

External shield

5
0
 c

m

neutron

spectatorNeutron Ball
DIS electron

to the BigBite 

25 mkA



����������������������
		"2&�&��	4��	"!�2 !��	�"� 	��"G
&"�
4�4

	�H"� "	"�#��



����������������������
��!"��������!�"��! 	�
 �	"�
�� �	��"
 "�2��&��!& 4���&�����2!"�"��

�		"� %&22�� "�
""�! ����	��
��=
��"	� &����	��" "	!"�"�%& $� �	�" �! $&�
�!�����
���
�>�
$ $&� �	�" 
��2��"�!"��2��		"��
 &����
 $"!�� �$� ��!�	���
 &��&� $" �	�" �
�=2&�$ �� $���
��)$"!�� �"� 	��%&22�"
�" "
 "����� ������!�� "	 $"�$� ��!���
$&�$"�"	�4��	 &
2"!��!! $	���$ $"
��� "	!�
�)$"!"%&22�

��42"!! $"������
��� "	!�)$"	"! %&22�"	"��4 ��" "
 !�� �"� 	��&�
 $" &�"%&���%%$"	"��24!2�%��	 &
2"!
��2�

��"�
�>�� �	� ��!%&22! ��&����2"��!$&"2�&�
�	�� �� $"�"� 	��
��� "	!�



���+�

�������
"
��������#�
������
����

���	�
�������


�	������

�

�������
�	���$& 2�%��	��" 	&I� &������&2��2"
%& $�����	"
&!&��&� $"#&�"�� &
	"�&��%"�""��

��$& 2�%(8/��!$�%"� $� �
"��%& $$&�$
�	"
&!&���

��$� %"�	"&� "	"! "�&! $"��&� � ����&� 
$���"
&���%& $����!�
��&22��	�	� &�!����������"���
�������"���
�������������
��

��������"���
� $&!�&�&�"!�� ��! 
!4! "�� &
&!!�"!�

��"� 	���" "
 &��"G
&"�
4

��"� "	��%��"���
 &���"�"��"�
"

���"	�22��
"	 �&� 4��" �������

�
��""�"�%"
��
$"
#�"�"��"�
"��������
��!�
%& $�����!"��	� &���� �������&���� $"	���
$��	!



����������
��F"��"��

�=&��2"2"
 	���" "
 "����&��& "� ����
�
�
��#����
F"��

��&��& "!�2&����2"���!	�

�(&�"�� &

� !�!"� �#""���24���
F"�����
���F"���"!����
"	"�&��&!�2!����&2��2"� ��
"� 	�
�! �

�3��&��!& 4��
��	
�1"� 	���" "
 �	!�2&����2"
!	�

�1"� 	���" "
 &��"G
&"�
4���

�1"� 	�����"� ��	���"����"��
�����"��
�



�����������������������������������

0.8

0.85

0.9

0.95

1

1.05

0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
x

F
2p

ef
f /F

2p

0.6

0.7

0.8

0.9

1

1.1

0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
x

F
2p

ef
f /F

2p

Q2 = 5 GeV2

αs = 1.2

αs = 1.4

Fig.5
����	
��	
���	���������������������
��������� 

!"#$�%!�
&������'()��**	�����������+&������,�������-������&��.�������

������	/�����-�����0
&��������������	122���	���/����34 

!45$�%!0����		�	/����
���6����
������������	�����
��7!���������	�����
��89:; 

!<�	��
=�����6*�	����	�>�����0



�����������������������������������

x

F
2p

ef
f /F

2p

xx

F
2p

ef
f /F

2p



����������

�������������
�����������������
'
  ��

��$!��������!��(��(����
�
���������������	�������
���������
�������������*���
��� ��������$����
�'�����
���������
����������
		
���
�����		������

�"%��2�2&#" � $��#��224�"2�& 
$��#���	��"2
H"� &�	"�#���	 $"&	$"2�&���	"��	&�� $&!�	���!�2�


